1.

8) 24

7 4
x 8

13. 836
— 621

19. 974
+ 125

25.

43. 682
+ 100

Name: Date:
Teacher: Class:
DAMS406

All four operations on one sheet

2. :
8) 40 8)96
& 1 8
X 8 X 8
4. 797 15 901
— 176 — 901
20. 468 2. 670
+ 501 + 110
26 27.

8) 56

32. 3
x 8

38. 5§51
— 151

33.

8) 88

. 411

— 311

4. 826
+ 121

45. 503

+ 291

4, 5.
8)16 8)80
10. 12 11. 11
x 8 x 8
16. 839 17. 122
— 422 — 121
22. 939 23. 593
+ 130 + 301
28 29.

8)72

34. 7
X 8

40. 327
— 117

4. 148
+ 410

47. 286
+ 711

Tongue Twister: How much wood could a woodchuck
chuck, if a woodchuck could chuck wood? It would
chuck as much as a woodchuck could, if a woodchuck
could chuck wood.

6.
8532
12. 2
x 8
18. 853
— 123
24. 599
+ 200
30.
8) 64
36. 10
x 8
42. 961
— 721
48. 813
+ 146
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Score:



72
37 286
~ 134

152
43. 682
+ 100

782

Answer Key Date:
Teacher: Class:
DAMS406

All four operations on one sheet

2. ) - 12
8)40  8)96
8. 1 8
X 8 X 8
8 64
4. 797 15 901
— 176 — 901
621 0)
20. 468 2% 670
+ 501 + 110
969 780
26. 7 27. 11
8)56  8)88
2. 3 383. 6
X 8 X 8
24 48
8. 551 3 411
— 151 — 311
400 100
44826 4> 503
+ 121 + 291
947 794

4 2 5 10
8)16  8)80
10. 12 11. 11
X 8 X 8
96 88
6. 839 1. 122
— 422 - 121
417 1
22. 939 23. 593
+ 130 + 301
1,069 894
28. 9 29. 1
gj72 8)s8
34. 7 35. 5
X 8 X 8
56 40
40. 327 4. 586
- 117 — 282
210 304
46. 148 47- 286
+ 410 + 711
558 997

Tongue Twister: How much wood could a woodchuck
chuck, if a woodchuck could chuck wood? It would

chuck as much as a woodchuck could, if a woodchuck
could chuck wood.

6. 4
8)32

12. 2
x 8

16

18. 853

— 123

730
24.  59Q
+ 200

799
- 8
8) 64

36.

30

10
x 8
80

2. 961
— 721

240
48. 813
+ 146

959
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